RESOLUTION NO. 75-2024

Introduced by Monty Tapp

A RESOLUTION AUTHORIZING THE CITY MANAGER TO ACCEPT THE PROPOSAL AND ENTER INTO AN AGREEMENT WITH MUNICIPAL EMERGENCY SERVICES FOR THE PURCHASE OF TWENTY-SIX (26) SETS OF TURNOUT GEAR FOR THE HURON FIRE DEPARTMENT IN THE AMOUNT OF ONE HUNDRED THIRTY-SEVEN THOUSAND TWO HUNDRED THIRTY-SEVEN AND 50/100 DOLLARS (\$137,237.50)

BE IT RESOLVED BY THE COUNCIL OF THE CITY OF HURON, OHIO:

SECTION 1. That the City Manager shall be, and he hereby is, authorized and directed to accept the proposal and enter into an agreement with Municipal Emergency Services for the purchase of twenty-six (26) sets of turnout gear for the Huron Fire Department in the amount of One Hundred Thirty-Seven Thousand Two Hundred Thirty-Seven and 50/100 Dollars (\$137,237.50), which proposal is attached hereto as Exhibit A and incorporated herein by reference.

SECTION 2. That this Council hereby finds and determines that all formal actions relative to the adoption of this Resolution were taken in an open meeting of this Council and that all deliberations of this Council and of its Committees, if any, which resulted in formal action, were taken in meetings open to the public in full compliance with applicable legal requirements, including O.R.C. §121.22.

SECTION 3. That this Resolution shall be in full force and effect from and immediately after its adoption.

ATTEST:

Clerk of Council

VDODLED.

0 8 OCT 2024

Monty Tapp, Mayor



(877) 637-3473

Bill To CITY OF HURON 417 MAIN ST HURON OH 44839-1652 **United States**

Quote

Quote #

QT1862339

Date

10/01/2024

Expires

10/16/2024

Sales Rep

Jesberger, Michael Fire-Dex Gear

PO#

Shipping Method

FedEx Ground

Customer

HURON FIRE DEPARTMENT (OH)

Customer#

C42082

Ship To

HURON FIRE DEPARTMENT

415 MAIN ST **HURON OH 44839**

United States

Item	Alt. Item #	Units	Description	QTY	Unit Price	Amount
TECGEN71- Exclusive-Coat	Quote 54566		Quote 54566 Exclusive TecGen 71 Coat	26	\$2,210.00	\$57,460.00
TECGEN71- Exclusive-Pant	Quote 54566		Quote 54566 Exclusive TecGen 71 Pant	26	\$1,560.00	\$40,560.00
3979471			BarriAire Gold™ Complete Coverage Hood	43	\$130.00	\$5,590.00
1910GF254	n and distribution and a second a second and	STATE PARTY AND THE STATE OF TH	1910 Standard Helmet (Black) with Innerzone 3 Goggles and Flip Downs	26	\$448.00	\$11,648.00
FDXLM80-9-Wide	And in the second of the secon		MES/FDX LEATHER BOOT - SERIES 80 - 9 Wide	34	\$553.00	\$18,802.00
G2LLG-Large	POTRICOLOGICA		Dex-Pro™ 3D Leather Glove - Gauntlet	43	\$131.00	\$5,633.00
MESRescue2-L	AND THE PROPERTY OF THE PROPER		MES Exclusive Rescue Glove HI-VIS Lime Green Size: Large	43	\$46.50	\$1,999.50

\$141,692.50 Subtotal

Shipping Cost

\$0.00

Tax Total

\$0.00

Total

\$141,692.50

This Quotation is subject to any applicable sales tax and shipping and handling charges that may apply. Tax and shipping charges are considered estimated and will be recalculated at the time of shipment to ensure they take into account the most current information.

All returns must be processed within 30 days of receipt and require a return authorization number and are subject to a restocking fee.

Custom orders are not returnable. Effective tax rate will be applicable at the time of invoice.



FIRE SAFETY USA, INC

Quote

3253 19TH STREET NW ROCHESTER, MN 55901 507-529-8444: PHONE 507-529-8111: FAX

Date	Quote #		
10/1/2024	100815		

Name	/ Address			
417 MAI	FIRE DEPARMENT N STREET OH 44839			
	Customer Phone		Re	n
arrana esta (198 0) de secono	Customer Fax		ADA	
Qty	Item	Description	Cost	Total
26 26	FIRUSA00091 UL6	MORNING PRIDE TAILS COAT AND PANT PER SPEC Lightweight Traditional Fire Helmet with 4" Faceshield & 6" Brass Eagle, Color: YELLOW	4,295.00 327.00	111,670.00 8,502.00
	PS383867 327	VIKING DUPONT NOMEX NANO FLEX HOOD RINGERS PATENTED BARRIER 1 EXTRICATION GLOVES, YELLO SIZE:	W, 109.00 54.00	4,687.00 2,322.00
	8180-XL X2-0912	HEXARMOR FIREARMOR SR-X GLOVES, SIZE: XL #2770912 - BLACK DIAMOND X2 14" NFPA LEATHER BOOT, SIZE:	99.00 369.00	4,257.00 12,546.00
	Profit of	FIRE.CHIEF@HURONOHIO.US		

			Total	\$143,984.00
Phone #	Fax#	E-mail	Web Site	
507-529-8444	507-529-8111	CAROL.CLAREY@FIRESAFETYUS	www.firesafetyUSA.com	



JOHN KUHL-SALES REP 440-662-2128

jkuhl@atlanticemergency.com

Amherst, Ohio 44001

12351 Randolph Ridge Lane, Manassas, VA 20109

Quote for:

HURON FIRE DEPT 417 MAIN STREET HURON, OH 44839

1-Oct-24

PRICING GOOD 20 DAYS

li			PRICING GOOD	
Quant I	Unit	Description	Unit Price	Amount
			- 1 1 1 1	
			AF 007 00	100010.00
26		GLOBE ATHLETIX TURNOUT GEAR COAT * PANT	\$5,267.00	136942.00
34		GLOBE SUPREME LEATHER BOOTS	\$585.00	19890.00
26		CAIRNS 1044 DELUX HELMETS	\$480.00	12480.00
43		GLOBE PARTICULATE HOODS	\$135.00	5805.00
43		FIRE CRAFT LEATHER FF GLOVES	\$95.00	4085.00
43		HEXARMOR EXTRICATION GLOVES 4012	\$45.00	1935.00
		e have every	11, 1-7 =	
		SHIPPING INCLUDED		
		te enter Ann with Call the Control of	7. 1 7 8	
		10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		
			11 6 1	
		1	10 1	
-			T	
_ 1				
		a find the control of	n 1 = 1 1	
-^V.3		gen bet git han an bet		
			1,500	
7 -		ing Equation (in the large Africa)		
_				
			12 1 5 11	
		6.1		
			=	
		THANK YOU FOR THE QUOTE LEVELSE CALL LANTH		
		THANK YOU FOR THE QUOTE! PLEASE CALL WITH		
		ANY QUESTIONS OR CONCERNS!. JOHN KUHL 440-662-2128	63, 73	
	*	440-002-2128		
			Total	¢191 127 0
			Total	\$181,137.0